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1. If the graph of the function f in the xy-plane
contains the points (0,−9), (1,−4), and (3, 0),
which of the following CANNOT be true?
(a) The graph of f has a maximum value.
(b) y ≤ 0 for all points (x, y) on the graph of f .
(c) The graph of f is symmetric with respect to

a line.
(d) The graph of f is a line.
(e) The graph of f is a parabola.

2. In a community of 416 people, each person owns
a dog or a cat or both. If there are 316 dog owners
and 280 cat owners, how many of the dog owners
own no cat?
(a) 36
(b) 100
(c) 136
(d) 180
(e) 316

3. If p is an odd integer, which of the following is
an even integer?
(a) p− 2
(b) p2

(c) p2 − 2
(d) (p− 2)2

(e) p2 − p

4. To make an orange dye, 3 parts of red dye are
mixed with 2 parts of yellow dye. To make a
green dye, 2 parts of blue dye are mixed with
1 part of yellow dye. If equal amounts of green
and orange are mixed, what is the proportion of
yellow dye in the new mixture?
(a) 3/16
(b) 1/4
(c) 11/30
(d) 3/8
(e) 7/12

5. The price of 10 pounds of apples is d dollars. If
the apples weigh an average of 1 pound for every
6 apples, which of the following is the average
price, in cents, of a dozen such apples?
(a) 20d

(b) 50d/3
(c) 5d

(d) 5d/3
(e) d/20

6. If (x+y)2 = x2+y2, which of the following state-
ments must also be true?

I. x = 0
II. (x− y)2 = x2 + y2

III. xy = 0

(a) I only
(b) II only
(c) III only
(d) II and III
(e) None

7. A group of workers can harvest all the grapes
from 10 square meters of a vineyard in 1/2 minute.
At this rate, how many minutes will the group
need to harvest all the grapes from 100 square
meters of this vineyard?
(a) 5
(b) 10
(c) 20
(d) 50
(e) 60

8. If the diameter of a bicycle wheel is 0.5 meter,
how many meters has the center of the wheel
traveled when the wheel has made 3 complete
revolutions along a straight road?

(a)
3π

2
(b) 3π

(c) 12π

(d)
25π

2
(e) 25π


